Chapter 01

Matching Pairs

. Find the letters from the given alternatives that would be written on the
last box following the same pattern as used in the first pair.

LERC R RN

(@) XY (b) YZ (c) UW (d) WU

. IJM isrelated to NJ as CP is related to
(a) GM (b) MG (c) NG (d) GO

. As NOP is related to PON as UVW is related to?
(a) VWU (b) UWV
(c) WVU (d) Wuv

. Find the number from the given alternatives that would replace the
question mark (?) following the pattern which first two number follow.

(a) 12 (b) 9 (c) 27 (d) 15

. Complete the second pair in the same way as first pair.
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(@) 9 (b) 8 (c) 7 (d) 10

0]



10.

. Some numbers are written on the stickers and they are related to each

other in certain way. Find the number which will be on the last sticker
following the same pattern as first two follow.

DD D 1l D 0D

(a) 52 (b) 65 (c) 31 (d) 4

. Complete the given set of words following the same pattern as followed by

first two words.
Grapes : Fruit :: Spinach : ?

(a) Pulse (b) Vegetable (c) Tree (d) Grain

. Which word is related to the third word in the same way as the first two

words are related?
Hammer : Nail : : Comb :?

(a) Dressing (b) Pin (c) Hair (d) Rubber

. Find the figure that would complete the second pair in the same way as

the first pair.
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Find the figure that would complete the second pair in the same way as
the first pair.
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As 25 is related to 37 then 49 is related to

(a) 41 (b) 56 (c) 60 (d) 65

The word ‘RIGHT' is related to ‘O5' in a certain way. In a similar way, find the
number which will be related to the word ‘SATISFY"?

(a) 06 (b) 07 (c) 08 (d) 09

Disha is playing word game with her younger brother so she write word

‘MANGO’ which is related to ‘13114715’ in a certain way to tease him. To
understand the logic behind this how can write ‘MAGIC'?

(a) 171393 (b) 931317 (c) 317139 (d) 131793

Which pattern from the given alternatives will completes the given set of
patterns in the same way as the pattern in the first pair?
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In a certain way ‘SANJAY’ is related to ‘8261317262'. In a similar way, how
‘RAGHAYV' can be written?

(a) 9262019265 (b) 5269262019
(c) 1920262652 (d) 5629102629
Answers

1

(c) 2. (a) 3. (c) 4. (c) 5. (b) 6. (a) 7. (b) 8. (c) 9. (d) 10. (b)

1.

(d) 12. (b) 13. (d) 14 (c) 15. (a)
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